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1 |Speed 15 | 10 | 15 | 15 8 1 64
2 |maras 12 10 12 12 3 1 50
3 |jarek.ZE 12 10 15 10 0 48
4 |kamilwlkp 8 3 15 | 10 36
5 |Pyton162 15 8 10 33
6 |witop 15 | 15 0 30
7 liahu 15 | 10 25
8 [Marek82 8 12 3 23
9 |Faja 10 | 10 20
10 |misiak89-89 8 0 10 18
11 |shadoow 6 6 0 6 18
12 |michaelB 8 8 16
13 |THOR 6 8 14
= |[WORCIK 8 6 14
15 [Bo_Lo 12 1 13
16 |Crenshaw 10 3 13
17 |cysio102 12 0 12
18 |Fiszka 12 12
= |Justa 12 12
20 |malutka 6 6 12
21 |Nightfall 6 6 12
= |piasol 6 6 12
23 |Mieczyslaw 10 1 11
24 |Siw-y 8 3 11
= |Ven 8 3 1
26 |Norreca 0 10 10
27 | BLACKMAN1981 10 10
= |MazdaJDM 10 10
29 [swirek 10 0 10
30 |Arash 10 10
31 [tOma5h 4 6 0 10
32 |adis555 0 8 8
33 |filipol3 0 8 8
34 [Przemek131088 8 8
35 |Trolix 8 0 8
36 |krzysiek3d 8 8
= |pawcio1017 8 8
38 |sivy369 5 2 7
39 |Dawidoski 6 6
= |Zdravko 6 6
41 [Kedzior 3 3 6
42 |child 5 1 6
43 |buczos 6 6
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